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Third Sémestef B.A. LL.B./B.Com. LL.B./B.B.A. LL.B.
(Five Year ,Integrated)_ Degree Examination, October 2022

~Paper V — SPECIAL CONTRACTS |
| (Prior to 2020 Admission)
Time : 3 Hours - | i ‘ 0 Max. Marké : 80
SPART A | -

Answer any five of the foHoWing not exceeding 50 words each. Each question carries
2 marks. ' ‘ N\ i Bl

1. Substituted agent

2. Contract of sale of goods
.3_. Bailor-

4. Pledge e
' s, Partnership at Will

6. | Specifi_c Guar_aﬁteei

i Ostensible agent“_“- |

8. Goods under sale of goods Act . E
(5 x 2 =10 Marks)
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PART — B

- Answer any four of the followmg not exceedlng 120 words each. Each question

carries 4 marks.

4.

2
3‘
g
5
6

Explain different kinds of bailment. '
Explain agency of neceSSJty
Partnership by holdlng out 7
Explain nght of__'Contrlbutlon. '
Explain Condition and warranty.

What are the essential elements of bailment? dan ooy
: (4 x 4 =16 Marks)

PART-C ‘

Answer any four of the following. Each questton carries 6 marks.

4%

X sold to Y all 700 bags of cement Iymg in his Delhi’'s godown. Exp!am the
legal position, if unknown to X all bags thad'been stolen before he contract was

made?
R, J, and O are partners ina flrm J-and P’s wives had a fight in the ladie’s club

- P loses his temper due to the'incident and convinces O to expel J from the

partnership firm. O agrees and they expel J without g:vmg him any notice or
reason thereof. Is this a valid expulsmn? :

A lends a horse WhICh He knows to be vicious to B He does not disclose this fact
to B. The horse runs away and B was thrown out and lnjured Explaln the liability

".ofA

A directs B to.sell As estate. B, on Iookmg over the estate before selling it, ﬂnds' ;

a mine on the estate which is unknown to A. B informs A that he wishes to buy

the estate for himself, but conceals the discovery of the mine. A allows B to buy,

in ignorance of the existence of the mine. What is the remedy available to A if

A discovers that B knew of the mine at the time he bought the estate?

A 'emptoys B to beat C and agrees to indemnify him against the consequences.

"If B beats C and is. fmed Rs. 1 OOO Whether B can claim this amount from A?

(4 x 6 =24 Marks)
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PART - D

Answer any three of the following. Each question carries 10 marks.

1.

i,

' Explain agency by ratification and what are the duties of an agent.
' : (3x10 = 30 Marks) .

Who is an unpaid seller and what are his 'righ‘té?
Explain the modes of'.discharge of surety from Iiability.
Explain different modes of dissolution of partnership.

Explain the rights and liabilities of a bailee.
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